# Applied Mathematical Sciences, Vol. 3, 2009, no. 24, 1171-1176 

# An Upper Bound for the Hosoya Index of Trees 

Rao Li<br>Department of Mathematical Sciences<br>University of South Carolina Aiken, Aiken, SC 29801, USA<br>raol@usca.edu


#### Abstract

The Hosoya index of a graph $G$ is defined as the sum of all the numbers of $k$-matchings ( $k \geq 0$ ) in $G$. An upper bound for the Hosoya index of trees is presented in this note.


Mathematics Subject Classification: 05C50

Keywords: Hosoya index of graphs, tree, eigenvalue of graphs

We consider only finite undirected graphs without loops or multiple edges. Notation and terminology not defined here follow that in [1]. Let $G$ be a graph of order $n$. We assume that $d_{1}, d_{2}, \ldots, d_{n}$, where $d_{i}, 1 \leq i \leq n$, is the degree of vertex $v_{i}$ in $G$, is the degree sequence of $G$. For each vertex $v_{i}$, $1 \leq i \leq n$, we use $t_{i}$ to denote the 2 - degree of vertex $v_{i}$, which is the sum of degrees of the vertices adjacent to vertex $v_{i}$. Moreover, we use $N_{i}$ to denote the sum of 2 - degrees of vertices adjacent to $v_{i}$. We define $\Sigma_{k}(G)$ as $\sum_{i=1}^{n} d_{i}^{k}$. Obviously, $\sum_{i=1}^{n} t_{i}=\sum_{i=1}^{n} d_{i}^{2}=\Sigma_{2}(G)$. A bipartite graph is called semiregular if all the vertices in the same part of a bipartition have the same degree. The Hosoya index of a graph $G$ was introduced by Hosoya in [4] and it is defined as $Z(G)=\sum_{k \geq 0} m(G, k)$, where $m(G, k)$ is the number of $k$ - matchings in $G$. Notice that $m(G, 0)=1$. The eigenvalues $\mu_{1}(G) \geq \mu_{2}(G), \ldots, \geq \mu_{n}(G)$ of a graph $G$ are defined as the eigenvalues of $A(G)$, the adjacency matrix of $G$.

The objective of this note is to prove the following theorem in which we provide an upper bound for the Hosoya index of trees.

Theorem 1. Let $T$ be a tree of $n \geq 3$ vertices and let $f(x)$ be $\left(1+x^{2}\right)^{2}(3 n-$
$\left.4-2 x^{2}\right)^{n-2}$. Then

$$
Z(T) \leq \sqrt{\frac{f\left(\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}\right.}{(n-2)^{(n-2)}}}
$$

with equality if and only if at least one of the following statements is true:
(1) $T$ is $K_{1, n-1}$.
(2) $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{n}}{t_{n}}$ and $T$ has eigenvalues $\mu_{1}=\frac{N_{1}}{t_{1}}, \mu_{n}=-\mu_{1}$, $\mu_{i}=\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$ for each $i$ with $2 \leq i \leq r$, and $\mu_{j}=-\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$ for each $j$ with $r+1 \leq j \leq n-1$, where $r$ is some integer such that $2 \leq r \leq n-2$.
(3) $T$ is a bipartite graph with $V(T)=V_{1} \cup V_{2}$, where $V_{1}=\left\{v_{1}, v_{2}, \ldots, v_{s}\right\}$ and $V_{2}=\left\{v_{s+1}, v_{s+2}, \ldots, v_{n}\right\}$ such that $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{s}}{t_{s}}$ and $\frac{N_{s+1}}{t_{s+1}}=\frac{N_{s+2}}{t_{s+2}}=$ $\ldots=\frac{N_{n}}{t_{n}}$, and $T$ has eigenvalues $\mu_{1}=\sqrt{\sum_{i=1}^{n} N_{i=1}^{n} t_{i}^{2}}, \mu_{n}=-\mu_{1}, \mu_{i}=\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$ for each $i$ with $2 \leq i \leq r$, and $\mu_{j}=-\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-1}}$ for each $j$ with $r+1 \leq j \leq n-1$, where $r$ is some integer such that $2 \leq r \leq n-2$.

In order to prove Theorem 1, We need the following theorems.
Theorem 2. [2] Let $T$ be a tree of $n$ vertices and $\mu_{1}(T) \geq \mu_{2}(T), \ldots, \geq \mu_{n}(T)$ are eigenvalues of $T$. Then

$$
Z(T)=\prod_{i=1}^{n} \sqrt{1+\mu_{i}^{2}}
$$

Theorem 3. [3] Let $G$ be a simple connected graph of order $n$. Then

$$
\mu_{1} \geq \sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}
$$

with equality if and only if $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{n}}{t_{n}}$ or $G$ is a bipartite graph with $V(G)=V_{1} \cup V_{2}, V_{1}=\left\{v_{1}, v_{2}, \ldots, v_{s}\right\}$, and $V_{2}=\left\{v_{s+1}, v_{s+2}, \ldots, v_{n}\right\}$ such that $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{s}}{t_{s}}$ and $\frac{N_{s+1}}{t_{s+1}}=\frac{N_{s+2}}{t_{s+2}}=\ldots=\frac{N_{n}}{t_{n}}$.

Theorem 4. [5] Let $T$ be a tree of $n$ vertices. Then $\mu_{1}(G) \leq \sqrt{n-1}$, and equality holds if and only if $T$ is $K_{1, n-1}$.

Proof of Theorem 1. Since $T$ is a tree, $T$ is a bipartite graph and therefore $\mu_{1}=-\mu_{n}$. Thus by Theorem 2 and the inequality for arithmetic and geometric means we have that

$$
\begin{gathered}
(Z(T))^{2}=\left(1+\mu_{1}^{2}\right)^{2} \prod_{2}^{n-1}\left(1+\mu_{i}^{2}\right) \leq\left(1+\mu_{1}^{2}\right)^{2} \frac{\left(\sum_{2}^{n-1}\left(1+\mu_{i}^{2}\right)\right)^{n-2}}{(n-2)^{n-2}} \\
=\frac{\left(1+\mu_{1}^{2}\right)^{2}\left(n-2+\sum_{1}^{n} \mu_{i}^{2}-2 \mu_{1}^{2}\right)^{n-2}}{(n-2)^{n-2}} \\
=\frac{\left(1+\mu_{1}^{2}\right)^{2}\left(n-2+2|E(H)|-2 \mu_{1}^{2}\right)^{n-2}}{(n-2)^{n-2}} \\
\quad=\frac{\left(1+\mu_{1}^{2}\right)^{2}\left(3 n-4-2 \mu_{1}^{2}\right)^{n-2}}{(n-2)^{n-2}} .
\end{gathered}
$$

Now consider the function $f(x)=\left(1+x^{2}\right)^{2}\left(3 n-4-2 x^{2}\right)^{n-2}$. It can be easily checked that $f(x)$ is decreasing when $\sqrt{\frac{3 n-4}{2}} \geq x \geq \sqrt{\frac{2(n-1)}{n}}$.

Recall that, for a connected graph $G$, Hong and Zhang proved the following inequality in [3]

$$
\mu_{1} \geq \sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}} \geq \sqrt{\frac{\sum_{i=1}^{n} t_{i}^{2}}{\sum_{i=1}^{n} d_{i}^{2}}}
$$

Recall again that, for a connected graph $G, \mathrm{Yu}, \mathrm{Lu}$, and Tian proved the following inequalities in [6]

$$
\sqrt{\frac{\sum_{i=1}^{n} t_{i}^{2}}{\sum_{i=1}^{n} d_{i}^{2}}} \geq \sqrt{\frac{\sum_{i=1}^{n} d_{i}^{2}}{n}} \geq \frac{2|E(G)|}{n} .
$$

Therefore, for the tree $T$, we have the following inequalities

$$
\begin{aligned}
\mu_{1} & \geq \sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}} \geq \sqrt{\frac{\sum_{i=1}^{n} t_{i}^{2}}{\sum_{i=1}^{n} d_{i}^{2}}} \geq \sqrt{\frac{\sum_{i=1}^{n} d_{i}^{2}}{n}} \\
& \geq \frac{2|E(T)|}{n}=\frac{2(n-1)}{n} \geq \sqrt{\frac{2(n-1)}{n}} .
\end{aligned}
$$

From Theorem 4, we have that $\mu_{1} \leq \sqrt{n-1} \leq \sqrt{\frac{3 n-4}{2}}$.
Hence

$$
f\left(\mu_{1}\right) \leq f\left(\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}\right)
$$

So

$$
Z(T) \leq \sqrt{\frac{f\left(\mu_{1}\right)}{(n-2)^{(n-2)}}} \leq \sqrt{\frac{f\left(\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}\right.}{(n-2)^{(n-2)}}} .
$$

If $T$ is $K_{1, n-1}$, a simple calculation shows that both sides of the inequality in this theorem are equal to $n$. If $T$ is a tree satisfying the conditions in
 $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{n}}{t_{n}}, \mu_{1}=\frac{N_{1}}{t_{1}}$. A simple calculation shows that both sides of the inequality in this theorem are the same. If $T$ is a tree satisfying the conditions in (3) of this theorem, then again by Theorem 3, we have that $\mu_{1}=\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}$. A simple calculation shows that both sides of the inequality in this theorem are the same.

Now suppose that the inequality in this theorem becomes equality. Reviewing the above proof of the inequality in this theorem, we have that $\left|\mu_{2}\right|=$ $\left|\mu_{3}\right|=\ldots=\left|\mu_{n-1}\right|$ and $\mu_{1}=\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}$. Then Theorem 3 implies that $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{n}}{t_{n}}$ or $T$ is a bipartite graph with $V(T)=V_{1} \cup V_{2}$, where $V_{1}=\left\{v_{1}, v_{2}, \ldots, v_{s}\right\}$ and $V_{2}=\left\{v_{s+1}, v_{s+2}, \ldots, v_{n}\right\}$ such that $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{s}}{t_{s}}$ and $\frac{N_{s+1}}{t_{s+1}}=\frac{N_{s+2}}{t_{s+2}}=\ldots=\frac{N_{n}}{t_{n}}$. Then we have the following cases.

Case 1. There exists an $i$, where $2 \leq i \leq(n-1)$, such that $\left|\mu_{i}\right|=0$.
In this case, we have that $\mu_{2}=\mu_{3}=\ldots=\mu_{n-1}=0$. Since $\sum_{i=1}^{n} \mu_{i}^{2}=$ $2|E(T)|$ and $\mu_{1}=-\mu_{n}, \mu_{1}=\sqrt{|E(T)|}=\sqrt{n-1}$. By Theorem 4, we have that $T$ is $K_{1, n-1}$.

Case 2. For any $i$, where $2 \leq i \leq(n-1)$, we have that $\left|\mu_{i}\right| \neq 0$.
If $\mu_{2} \geq \mu_{3} \geq \ldots \geq \mu_{n-1} \geq 0$ or $0 \geq \mu_{2} \geq \mu_{3} \geq \ldots \geq \mu_{n-1}$, then by $\sum_{i=1}^{n} \mu_{i}=0$ we have that $\mu_{2}=\mu_{3}=\ldots=\mu_{n-1}=0$, contradicting to the assumption of this case. Thus there exists an integer $r$ such that $\mu_{2} \geq \mu_{3} \geq \ldots \geq \mu_{r}>0>\mu_{r+1} \geq \mu_{r+2} \geq \ldots \geq \mu_{n-1}$, where $2 \leq r \leq n-2$.

Now if $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{n}}{t_{n}}$, then $\mu_{1}=\frac{N_{1}}{t_{1}}$ and $\mu_{n}=-\mu_{1}=-\frac{N_{1}}{t_{1}}$. From $\sum_{i=1}^{n} \mu_{i}^{2}=2|E(T)|=2(n-1)$, we have that $\mu_{i}=\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$, where $2 \leq i \leq r$, and $\mu_{j}=-\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$, where $r+1 \leq j \leq n-1$.

If $T$ is a bipartite graph with $V(T)=V_{1} \cup V_{2}$, where $V_{1}=\left\{v_{1}, v_{2}, \ldots, v_{s}\right\}$ and $V_{2}=\left\{v_{s+1}, v_{s+2}, \ldots, v_{n}\right\}$ such that $\frac{N_{1}}{t_{1}}=\frac{N_{2}}{t_{2}}=\ldots=\frac{N_{s}}{t_{s}}$ and $\frac{N_{s+1}}{t_{s+1}}=\frac{N_{s+2}}{t_{s+2}}=\ldots=$ $\frac{N_{n}}{t_{n}}$, then $\mu_{n}=-\mu_{1}=-\sqrt{\frac{\sum_{i=1}^{n} N_{i}^{2}}{\sum_{i=1}^{n} t_{i}^{2}}}$. From again $\sum_{i=1}^{n} \mu_{i}^{2}=2|E(T)|=2(n-1)$, we have that $\mu_{i}=\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$, where $2 \leq i \leq r$, and $\mu_{j}=-\sqrt{\frac{2\left(n-1-\mu_{1}^{2}\right)}{n-2}}$, where
$r+1 \leq j \leq n-2$.
QED
Note that $\mathrm{Yu}, \mathrm{Lu}$, and Tian proved the following theorem in [6]
Theorem 5. [6] Let $G$ be a connected bipartite graph of order $n$. Then

$$
\mu_{1} \geq \sqrt{\frac{\sum_{i=1}^{n}\left(d_{i}^{2}+t_{i}\right)}{\sum_{i=1}^{n} d_{i}^{2}}}
$$

where the equality holds if and only if $G$ is a semiregular connected bipartite graph.

They in [6] also proved that

$$
\sqrt{\frac{\sum_{i=1}^{n}\left(d_{i}^{2}+t_{i}\right)}{\sum_{i=1}^{n} d_{i}^{2}}} \geq 2 \sqrt{\frac{\sum_{i=1}^{n} d_{i}^{2}}{n}} \geq 2 \sqrt{\frac{\left(\sum_{i=1}^{n} d_{i}\right)^{2}}{n^{2}}} \geq \frac{4|E(G)|}{n} .
$$

Thus, for any tree $T$ of order $n \geq 3$, we have that

$$
\sqrt{\frac{\sum_{i=1}^{n}\left(d_{i}^{2}+t_{i}\right)}{\sum_{i=1}^{n} d_{i}^{2}}} \geq \frac{4|E(T)|}{n}=\frac{4(n-1)}{n} \geq \sqrt{\frac{2(n-1)}{n}} .
$$

Notice that

$$
\sqrt{\frac{3 n-4}{2}} \geq \sqrt{n-1} \geq \mu_{1} \geq \sqrt{\frac{\sum_{i=1}^{n}\left(d_{i}^{2}+t_{i}\right)}{\sum_{i=1}^{n} d_{i}^{2}}}
$$

Hence, we can prove the following theorem via using a very similar argument as the one in the proof of Theorem 1.

Theorem 6. Let $T$ be a tree of $n \geq 3$ vertices and let $f(x)$ be $\left(1+x^{2}\right)^{2}(3 n-$ $\left.4-2 x^{2}\right)^{n-2}$. Then

$$
Z(T) \leq \sqrt{\frac{f\left(\sqrt{\frac{\sum_{i=1}^{n}\left(d_{i}^{2}+t_{i}\right)}{\sum_{i=1}^{n} d_{i}^{2}}}\right)}{(n-2)^{(n-2)}}}
$$

## References

[1] J. A. Bondy and U. S. R. Murty, Graph Theory with Applications, Macmillan, London and Elsevier, New York (1976).
[2] M. Fischermann, I. Gutman, A. Hoffmann, D. Rautenbach, D. Vidović, and L. Volkmann, Extremal chemical trees, Z. Naturforsch 57 a (2002) 49-52.
[3] Y. Hong and X. Zhang, Sharp upper and lower bounds for largest eigenvalue of the Laplacian matrices of trees, Discrete Math. 296 (2005) 187 - 197.
[4] H. Hosoya, Topological index, a newly proposed quantity characterizing the topological nature of structural isomers of saturated hydrocarbons, Bull. Chem. Sco. Japan 44 (1971) 2232 - 2339.
[5] A. Neumaier, the second largest eigenvalue of a tree, Linear Algebra and Its Applications 46 (1982) $9-25$.
[6] A. Yu, M. Lu, and F. Tian, on the spectral radius of graphs, Linear Algebra and Its Applications 387 (2004) 41-49.

Received: November, 2008

